
COMMON IRREGULAR VERBS  
 

The verb forms provided in the table below are as follows: 
�x the base form, which you would find in the infinitive: to fly 
�x the third-person, singular, present tense: he flies 
�x the third-person past tense: he flew 
�x and the past participle: he has flown 

 
Base Form Present Third 

Person 
Past Third 

Person 
Past Participle 

arise 
be 
bear 
be  
freeze get 

give 

arises 



go 
grow 
hang 
hide 
know 
lay 
lead 
lie 
light 
lose 
prove 
ride 
ring 
rise 
run 
see 
seek 
set 
shake 
sing 
sink 
sit 
speak 
spring 
steal 
sting 
strike 
swear 
swim 
swing 
take 
tear 
throw 
uses 
wake 
wear 
write 

goes 
grows 
hangs 
hides 
knows 
lays 
leads 
lies 
lights 
loses 
proves 
rides 
rings 
rises 
runs 
sees 
seeks 
sets 
shakes 
sings 
sinks 
sits 
speaks 
springs 
steals 
stings 
strikes 
swears 
swims 
swings 
takes 
tears 
throws 
used 
wakes 
wears 
writes 

went 
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